
Rattan Single Armchair
If you have any questions about the rattan single armchair, please feel free to contact us. 

  Customer Service Email: Service@alaulm.com

INSTRUCTION 

IMPORTANT
PLEASE READ BEFORE YOU COMMENCE ASSEMBLY

Follow the guidelines in this user guide to ensure correct
assembly and care for this product.

03DADB24-FB





SPECIFICATIONS

01

44.4 inch

63.8 inch

79.0 inch

24.4 inch

16.7 inch

16
.7

 in
ch



How to Use The Coffee Table ...................................................................................

CATALOG

02

Catalog

Specifica�ons...........................................................................................................

Catalog.....................................................................................................................

01

02

Care & Instruc�ons .....................................................................................................

Part List And Screw Set List.......................................................................................

Extra .................................................................................................................................

How to Assemble The Single Armchair  ....................................................................

How to Use The Seat Cushions And Pillows..............................................................

03

04

05

06

10

12



NOTICE

03

Care & Instructions
Thank you for ordering the leisure set, here are some tips that may help you.
1. This lounge set includes two reclining beds and a coffee table. 
2. During installation, please take out all parts at the same time and be careful not to smash them.
3. When you get the cushion, please tear open the PE compression bag packaging, the cushion will 
    spring back to normal. We also have ties and Velcro can fix our cushion and the recliner itself, 
    making it more snug and comfortable.
4. If any part is damaged, please do not worry, you can always contact us, and we will provide you with 
    a good solution.
5. In order to prolong the service life of the sofa fabric cover, we suggest you to keep all the cushions 
    indoors on rainy days.
6. We hope you will like our products, and we are equally looking forward to our products bringing you a 
    good leisure experience. If you have any other quesƟons, please feel free to contact us.

Contact US:
       Service@alaulm.com
       www.alaulm.com

How To Cover Holes & Repair Broken Wicker

Step 1 Step 2

Step 3 Step 4

You can use two pieces PE wicker to cover the hole,and repeat the steps to cover all the holes.
These PE wicker can also be used to repair the scratch or broken wicker.



04

PART LIST

Box legs

Seat And Cushion Pillowcase

Front Feet

Connection Bar Tilt Brace

Left  Armrest Longboard BackrestRight  Armrest

2 PCS

2 PCS 2 PCS 2 PCS

Support Bar

2 PCS 2 PCS

2 PCS 2 PCS 2 PCS 2 PCS

Parts List

Screw Set List

E

F H IG J

K

Q3Q2

L M

A B C D

M8 Plastic Spacer

4 PCS

R1

U-shaped legsCoffee Table Top

M6 WasherM6x30 M8x35

8 PCS 8 PCS 32 PCS

8 PCS

N2 N3 P1

M8 Screw Caps

Q1

8 PCS

M6 Screw CapsM8 Washer

8 PCS

P2

Nuts

4 PCS

O

M6x20

20 PCS

N1

8 PCS

Nut Caps



Screw Set List

M6 Allen KeyM6 Plastic Spacer

4 PCS

R2 S

05

PART LIST

Extra (Screw Set)

1 PC

M8 Washer

2 PCS

P2

M6x30 M8x35

2 PCS 2 PCS

N2 N3

M6x20

2 PCS

N1

Q1 Q2

M8 Plastic Spacer

M6 Plastic Spacer

1 PC

1 PC

R1

R2

M6 Washer

4 PCS

2 PCS

P

M6 Screw Caps

Q3

2 PCS

M8 Screw Caps

Nuts

2 PCS

O

1 PC

T

M6 Wrench

2 PCS

Nut Caps



Installation steps 

06

C
N1

How To Assemble Single Armchair

M6*20

Step 1:Attach the front feet(E) to the longboard(C) with screws(N1).
NOTE:Please tighten all screws.

Step 2:Attach the left and right armrests(A and B) to the longboard(C) 
             with screws(N2).
NOTE:Elevate the front foot section of the longboard to level the 
            connection,do not tighten the screws all the way.

x2
x8

A B x2x2

E x2
P1 x8

N2 M6*30 x8

P1 x8

x2

x2



Installation steps 

07

Step 3:Attach the armrest connecting bar(F) to the left and right 
            armrests(A and B) with screws(N1).
NOTE:Do not tighten the screws all the way.

F x2

Step 4:Attach the support bar(G) to the left and right armrests(A and B)
            with screws(N3).
NOTE:Do not tighten the screws all the way.

G x4x2

N1 x8

P1 x8

x2

x2

M6*20

P2x4N3 M8*35



x4P2

Installation steps 

08

Step 5:Attach the tilt brace(H) to the backrest(D) with screws(N1) and 
            nuts(O).
NOTE:Plastic spacers(R2) are placed between the two parts, and the 
            screws should not be tightened too much so that the tilt brace 
            can move freely.

x2

D H x2x2
N1 x4 P1 x8M6*20

R2 x4 O x4

Step 6:Attach the left and right armrests(A and B) to the backrest(D) 
            with screws(N3).
NOTE:Put a plastic spacer(R1) between the two parts and don't tighten 
            the screws too much.Tighten the screws on the armrest 
            connecting bar and the long plate.

R1x4 x4

x2

N3 M8*35



Installation steps 

09

Step 7:Place the screw cap(Q3) over the screw(N3).
NOTE:When hanging the plastic parts on the tilt brace(H) on the support 
            bar(G), adjust the position of the plastic spacer on the support bar
            (G) so that the plastic spacer is located underneath the tilt brace
            (H) to protect the product.

x2

Q3 x8

Step 8:Place the screw cap(Q1) over the screw(N1),Place the nut cap
(Q2) over the nut(O).

x2

Q1 x4 Q2 x4



Installation steps 

10

Step 2:Glue the sticky tape underneath the seat cushion(I) around the 
             longboards(C).

I

Step 1:Slip the cushion(I) over the backrest to hold it in place.

x2

How To Use The Seat Cushions And Pillows

x2

x2



J x2

Step 3:Secure the straps underneath the seat cushion to the cross stop 
             in the center of the armrest.

x2

Step 4:Place the pillowcase at the appropriate height and stick them 
             with sticky tape around the backrest.

x2

Installation steps 

11



12

Step 2:Flip the coffee table over and use it.

Installation steps 

How To Use The Coffee Table
Step 1:Unfold the folding coffee table and snap one end of the box legs
             (M) into the clasp underneath the table top of the coffee table(K).



Installation steps 

Step 3:Place the screw cap(Q1) over the screw,Place the nut cap(Q2) 
over the nut(O).

x2

Q1 x4 Q2 x4



www.alaulm.com


